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wh)-MEEWEIR L [RREEE] 3,897,526
1 h-MEEMERE L AR EEY 139. 00 24, 520. 00 3, 408, 280
m3
2 Y- MERER BIBR~AniE (B&FHIvIY-1) 139. 00 2,722 378, 358
m3
30 L-FUh 40% #8 2 170kg/ ML T 36. 00 798. 00 28,728
"
4 5 -FU5 TR - EI L 4.75 15, 720 74,670
t
5 9 LU0 &k BIBm~RES (2 4.75 1,577 7,490
t
WYL E [REEE] 764, 500
6 I-MRILDE $kERIVYY-b 139. 00 5, 500. 00 764, 500
m3
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T TRI7 VMR LT BT TAITMMBEERR  t=15emEL T 390. 00 873.3 340, 587
m
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m2
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m3
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RIE [RAE1EX] 1,262,812

11 R 920. 00 363.7 334, 604
m3
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m3

13 £R%EEM (2) Lot EIER~L515 160. 00 2,520 403, 200
m3

EmEF [REEX] 320, 496

14 EmEEE 440.00 728.4 320, 496
m2

EBERL [REEX] 3,495,152

15 A K& (1) 760. 00 315.4 239, 704
m3

16 LRYEEHE R&Es (1) ~EITERT 760. 00 690. 8 525, 008
m3

17 #BRL () W<1.0m 370.00 4,825 1,785, 250
m3
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m3
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m
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m
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m
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m
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m
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m
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m
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m
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m2
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m3

46 109~ +REHR (2) MEI&Em~L5E (BHIvII-1) 14. 00 2,722 38,108
m3

WH-IELHE [REEE] 90, 860

47 a2 — rEASE (1) |ARIVY)-H 3.00 4,620.00 13, 860
m3

48 a5 — LD E () &Fnavyy-+ 14.00 5,500. 00 77,000
m3

T (D) 2,084, 625

E£LT 2,084, 625

KIE [RAEEE) 353, 152

49 KR 260. 00 452.5 117, 650
m3

50 LRMEER (1) WAL ISR ~RES (1) 260. 00 893.9 232,414

m3




BERRE

FHSEERREEEEIKERRRIE

% g R - KT B 2 ] i) IS

51 TRYEEHR(2) Wt EIERT~L515 1.00 3,088 3,088
m3

EmEF [REEX] 106, 346

52 EEEIE 146. 00 728.4 106, 346
m2

BRL [&REEX] 1,623, 877

53 A RES (1) 260. 00 315.4 82,004
m3
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55 R L W<1.0m 230. 00 4,825 1,109, 750
m3

56 EEER 430. 00 685.5 294, 765
m2

“BIun®E [(REEE] 1,250

57 HtmnE T 1.00 1, 250. 00 1,250
m3

HEkKT (D) 4,566, 485

BKBEYT 4,566, 485

BiBRE [REMEX] 4,028, 640

58 UBMEIFEERE U600 x 600 176. 00 22, 890. 00 4,028, 640
m

EEw (1) [REMEE] D1-Axi#t 397, 691

59t 24N-8-25(20) (&47)  W/C=b%LLF 1.00 367, 600 367, 600
L

60 X7 SD 345 D13 0. 11 208, 100. 00 22,891

t




BEANRE AHSEERERSTEHKERRBRTE
% L IR - WAKTiE B = B {f ) i

61 ##& BEEY - 3K 1.00 7, 200. 00 7,200
=

oo (2) [(RRE1EZE] D1-83E T #t 131,100

62 HEHH 18N-8-40 (Z¥F)  W/C=60%LL T~ 1.00 131,100 131,100
(&l

BiEkiEfmpicis [(REMEZX] 8, 714

63 BERIEGHEE (F0Y) DI-9 [RHLE] 0.0 174, 289.00 8. 714
m3

W -IRER (REEZE] 109

64 2091 bERIERE BIEFR~0nEs (EHIV-1) 0.05 2,193 109
m3

WH)-IROSE [REEE] 231

65 I-MRILS B EEH9)-+ 0.05 4, 620. 00 231
m3

BT (DyEs) 732, 492

HET 732, 492

B2 (REEZE] 721,110

66 BEZ 2EE 430. 00 1,677.00 721,110
m2

BFWAT [(REEZ] 11,382

67 FEFWiT FEER 60. 00 189.70 11,382
m2

RE&ET 1,396, 550

XBEET 1,396, 550




BEANRE SHGEERER BT BHKERRRTE
2 o] 1B - R Bif B ff & #© %
SRFEBERE (REFE] 1,396, 550
68 RBFEZEEB 53.00 26, 350. 00 1, 396, 550
AH
H@EREE FEL) 3,026, 553
HERER 3,026, 553
HEBREE 3,026, 553
EfEE 490, 553
RIBE (REAFZ] 78, 353
69 RLtBrE 110. 00 712.3 78, 353
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KRR HE 77,068,068 x 0.04% 30, 827
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